alr mef

I

1LIVING

Product Assembly Instructions

ALDO - DRESSER 4.DRWS + 2.0PEN NICHES

~ C:Bolt/ Mg'45 X6 SEF | Insert nut x4
o D: Flat Washer / @19 x10 L K: Screw M4*20 x4
IN\% ©  E:Lock Washer/ 12 x10 & L: Screw M4*40 x4
\II = F:Alenkey V4 X1 S M Anti-ipA x4
M G: Bolt/ M6*60 x4 o, N: Anti-flip B X2
A: Chest x 1 Ples 2 & H: Cross dowel x4
STEP1

STEP 2




STEP 3 I Insert nut x4
Gl K: Screw M4*20 x4
@ L Sorew M4*40 x4
&= M Ati-fipA x4
M
~ L
- o
a_ ¢ Jﬁ'
L I
| N STEP 1.2
STEP 3.1 STEP 1.3
STEP 4 o, N: Anti - flip B X2
N

=0

FINISHED

22






